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 MATHEMATICS \

~ (Hindi and English Version) | b

[Total No. of Questions: 26) ~ [Total No. of Printed Pages: 16].

" [Time: 03 Hours]

~ [Maximum Marks: 100]
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FeT #HIE 6 10 TF T 2 I, 11 G 14 TF 3 3, 15 G 21 TF 4 & (d
22 @ 26 @@ 5 & AT &/ |

e BHFE 6 | 26 TH HaRvs [3F7 77 73 &/
STTIIHAFER W 37 T |

7T 9F F q7% 9qv @ qgvgEsar &/

All questions are compulsory.

Q. No. 1 to 5 are objective type and 5 marks (1x 5) are allotted for each
question. '
From Q. No.6 to 10, 2 marks from 11 to 14, 3 marks, from 15 to 21, 4
marks and from 22 to 26, 5 marks are allotted. |
Options are given in Q. No.6 to 26.

Draw a neat diagram if needed.

Graph paper is required.
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. Choose and write the correct 6ption -
(i) A number V5 is - |

: (A).rational’ = (B) irational
T ©) natural (D) .odd
| (i) A pol'ynomtal contammg two térms is called -
(A) Monomial - - (B Bmormal
(C) Zero polynomial (D) Ttinomial -
(ili) Equation of y-a_'xi§ is - '
(A) y=0. - @B x—_~6
© x=b . . D) y=a
| (iv) Pomt (1,1 he in cartesian plane in - .
(A) .I* quadrant (B) II" quadrant
© e quadrant . (D) IV™ quadrant
(v) Each angle of equilateral triangle is - |
@) 300 @) 60
€) 4s° Q@ . (D) 90° .
52 Rew e & ot BRw — e L (xe=e)
@ a% &1 A/ B ... ... B TR, Y ( 1 /o )
(ii) wa@a%ﬁaﬁvﬁiﬁrm ..................................... & 21 (180° /360°)
(iii) zrf%z?gﬁwrﬁ% ﬂ’fﬁﬂﬂﬁﬁ‘ﬁm...: ........................... Brfl | (e / 3remTe)
(V) T BT T AT e[ 2(8b +.bC + ca) / abe]
(v) TEE xP- 2x2 4 4x H X3 Trmﬁ ...... e oot 21072
" Fill in the blanks-° | L |
- () The valuc of a%is ............. e eaaeans e eteeneerera e (1/0)
(1), Sum of the angles of a quadrilateral is equal 10 . iieiiniinannn, o (180° / 360°)
(iii) If two circle are equal then their radii are. ........... — (equal / unequal)
@iv) Surface area of cuboid s ........... ivevereeresons [2(ab 4 be + ca) /abc]
W) chfﬁcient of x* of polynomial x3- 2X2 44X S oeneenennl STPT (172)
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9.3 W-W/ﬂ'ﬁm A guv TETFGI'Q—- _ .. R | ; - '_ (1><5=5)
() wgT 4x¢ +3x% + 2x2 +xaﬁmaﬁ‘{ﬁ‘ﬂt:| | o
(i) 7ol & Prders fafag) .

(i) ﬂﬂﬁmwmww|

(iv) ﬂ%m&ﬁ%ﬁﬂmwmﬁﬁﬁﬁ?

) Ww#mﬁmw%ml

Write the answer in one word/sentence -

(1) Write the power of ﬁolyﬁonﬂal ax*+ 334+ 2x2 + x.l

(i) Write the co - ordinate of origin. i

(iii) Write a linear equation of two varjables. _ |

(i\;) How many rat:onal numbers are there between two rational numbers”

(v) Write the maximum power (degree) of the variable in lincar polynomlal
A4 T o fafee - L (=S,
M m%aﬁﬂawaﬁmﬁ%'*

(ii) afﬁmmwmmﬁwaﬁagmmm gl

(ifi) fA 4 Tre A WP 0 ¥ 100 75 €Al &

(iv)'wqﬁﬁmmmwmaﬁuﬁwza@%i
(ir)-'am'ﬂ'ctaamaﬁ iR 1 B 31

Write Gueffalse - ©

(i) " The average value of variable tprm is called mean.
(ii) .'f.her-hm'de 18 t.h-e_ value of fhe observation which has maximum frequency. . -
(iti) The brpbabiiity of an event lies between 0 and 100.

(iv) In athrow of die,..th_é probaPility of getting an even number is -;-

(v) The probability of impossible event is 1.
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"5 _‘qﬁmm“ | .- o | - (1x5=5)

@ e
O dwERwGm o @ s
(ii) mgsmamaﬂ Y _- smrth
Giy v L meth-
__ ) ﬁ=a‘ﬂ’+ R '_".*-"f""(d)- Ao
®) i g e 00
i o | ) ax+b=0
AR S (g) 180°

Match the column-

(A) B | . ®)
(i): -Brcadth lesé length : - - (a) Pythago;as theorem '
(ii) Volbmelofcone | (b) ;mrch
(i) Rigfﬁ angle | - (© nrth
(iv) (Hypotenuse)’ = '(Perpendicuihr)lz-il- (Base)® (d) line .
I ' | e 90°

(v) Linear equation | (e)

o ax+b=0"

® 180° -
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, 1 - - |
W6 ﬁﬁmwﬁ#ﬁwml @
R . Sl
Rauona.hse the denormnator of 7
_ - @dr /OR
G Eﬁlﬁ?ﬂ' -
. l - l -
(125) 2
Simplify ~
.
(125) 3 .
w7  anpfa # e 3 fafen - @
() AD Prvie (i) B® Fwie
- In the given figure write — |
| (i) Co-ordinate of A (ii) Co - ordinate of B
+4
+3
| +2---==2 1B
<4 1 (I
. i ! .
1 L I ] L | ] 1
T I 1 | T ¥ ¥ T
_?—3—2—1 4 17234
A P e e = = ._2 -+
3 > .
4 -
| HUAT/OR
_ o _ ===
=g (1. 0) W@ (0. 2) 5 3w W Rerg 27
‘At which axis points (1, 0) and (0, 2) lie? -
. [91 0] Page 6 ofl16
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")

If base and altitude of a parallelogram are 16 cm and 8 cm respectively. Find the area of

-I;)arallelogram.

3T /OR
ﬁlaﬁAD,_AAB'CEﬁtwqrﬁuﬁ%ﬂm%gmABDWW:%ACUWW'
T fafEe, aswd 9AE @t €7
. A

B—pH —C

In given diagram,-Ab is median of triangle ABC and area of triangle ABD is equal to

area of triangle ACD, give reason why areas are equal.

A
B D C
q9 14 ¥, B a9 1@ M BT IR &6 1A A | )

Find the surface area of sphere of radius 14 cm. .
S=dT /OR
12 AL o1 916l 99 BT AT STd B |

Find the volume of cube of edge 12 cm.

' [910] | . Page 7 of 16
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.10 ﬁaaﬁlqﬁmﬁisﬁaﬁuﬁ#ﬁooﬁﬁ)ﬁﬂ%ﬁm%mﬁ%m
41 39, 48, 52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52 60
ﬁmmmﬁmaﬁmi

i
.r"

In a mathemaucs test, 15 studcnts obtamed the followmg marks (out of 100)

413948524662544096529840425260

Find thc mean of this data.

- AT fOR
wfm#w$wﬁﬁﬁﬁﬁ%ﬁw*ﬁaﬁw~
j..2345013343 . . '
- ¥ e BT e W B |
The following number cf gnals were scored by a football team in" 10 matchcls

'2345013343

‘Find ths-mean_of these goal's.

R U.EaS‘f%ﬂ%mﬁmaﬂa?rﬁTq,ﬁlﬁpsﬁ?q gt & 3R q'# 0 2

@)
. Exp_fess_O.E in the form ‘E, where p and q are integers, and q # 0.
" T /OR
Rauonahse 1he denormnator of .
. ﬁ —2 .
W12 W2x+y 7%ﬁ'r=raz=rf%—ﬂ%qqi @)

Write three: solunons for equation 2x + y =17.

[910]
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@ /OR

af g (3, 4) T 3y = ax+7 B G W R R, 4 a w1 T

If the point (3, 4) lies on the graph of the equation 3y = ax + 7, then find the valué oF a.

943 ol & afe LPQR = ZPRQ & frg #ifog & ZPQS = ZPRT 21 B

In fig., ZPQR = LPRQ , then prove that ZPQS =

P

: [
) /\
Ny

s Q R
312041 / OR

o ¥ x SRy B A ST AR

In fig., find the values of x and y.

A(—i —>B

_'§.14ﬂ§ﬁa$aﬂ'§mm%ﬁwwﬁﬁml |

v

N

LS

ZPRT.

(%)

Write any three types of quadrilaterals and draw the diagram for each.

3741/ OR

afe fa%'\«%’r‘i@j,ﬁ @ AT BT HE 100°. 110°, 60° &, a0 = Bor 3T BT |

If three angles of a quadrilateral are 100°, 110° and 60°, then find the fourth angle.

[910] " Page9ofi6
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. W15 ﬂmmmaﬂﬁu_ ;
12x2 -7x+l

Factonse—
1262 - Tx + 1
o S°TAT / OR

@Eﬁmﬁmaﬂmaﬂ(mﬁwmwaﬂﬁm |

- Find the value of (102)? using appropriate 1dent1ty

.16 - ﬁg(z 4) (3, -1) (1,2) T (-3, -5)%aagafsrﬁrﬁua§|

o In which quadrant the pomts(z 4) (3 -1, 2) and (-3, -5) lie.

o : . E/OR :

ﬁlﬂr%ﬁqﬁﬂwg'ﬁf(x y)aﬁmﬁﬁuﬁazﬁﬁ?jaﬁa%ﬁqﬁaﬂﬁﬁaﬁm—

X -2‘-1 1 I3

e 7 3 a1 | |

y.
L o SR
Plot the points (x, y) given in the following table on the Cartesian plane.

x [-2 |-1 |1 |3
ly (8 7 13 -1

ER

wagﬁmABCDﬁAc AD%aﬁhABmA-aﬁ ﬂﬂﬁmﬁ‘qﬁm%lmﬁ;

. AABC= AABD

In ﬁg quadnlateral ABCD AC=AD and AB blsect ZA, show that
AABC AABD | |

. D I

g ——— :
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SII9T / OR

ﬁqmﬁ WWABW ADaﬁ?BCﬂwmm%Ea@ﬁsCD
mABaﬁW%ﬂTﬁ?raaﬂm%l

In fig. AD and BC are equal perpendicular to a line segment AB. Show that CD bisects

AB.
B

-
0 '

D A

.18 mm,wﬁﬁﬁﬁwaﬂmwwmmmﬁmm%[ (a)

Prove that the perpendicular from the centre of a circle to a chord bisect the chord.
31271 / OR
A Arpla A B O g U g R A 4 A.B.C 30 Wor ¥ f%£BOC=30°q0
£AOB=60° ¥ aft 71y ABC. 3 wfaRe g9 W D @ firg & @£ ADCT B
In ﬁ.g A, B, C are three points on a circle with centre 0, such that £ BOC = 30°and,

. £AOB=60°, if D is a point on the circle other than arc ABC. Find ZADC.
B_C

N

e —

[910]
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W19 90° FT PV IR SHH IF A | | | )
Draw angle of 90°, also draw bisector of .
oIl /OR

Wﬁ'ﬂGABCﬁWWWBC 7%43 7soaﬁvAB+Ac..13ﬁ

Construct a trlangie ABC in WhiCh BC=7cm, £B= 75° and AB + AC l3 cm.

.20 a’rﬁqmaﬂwwsooaﬂwaﬁmaﬁugwam%— -(4_)
a‘r'ﬁm : 105'@
T | : 275 R

.zﬁ‘réwﬁ[%aﬂﬁ 120?&'.

ﬁﬁﬁuﬁﬂmmzﬁﬂﬁaﬁmﬁaﬁnaﬁaﬁml

Two coins are tossed simultancuu'sly 500 times and we get -

"Iu

Two heads - 105 times R
'One head : .. 275 times _
No head n : 120 times

Find the probability of occurrence of éa_éh of these events.

[910]
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a‘ra@ﬁmg}

(i1) W'ﬁ%ﬂ%‘b‘r (m) BIE TSB! A 8

1500 families '
W1th 2 children were selected randomly, and thc following data was
obtamed |
Number of girls in a family 2 ] 0
Number of familics 475 | 814 | 200 !
' l

Compute the probability of a famliily, chosen at random having -
i) 2 girls | (ii) 1 girl . (iif) No giﬁ_
21 TP wg WSS 16 ﬂ?ﬁ%aﬁ?maﬁﬁw 12 9. B ¥ &1 9% g aF%e wd
R aﬁgﬁummaﬁﬁqunéilﬁ | (@)
“The height of cone is 16cm and its base radius is 12cm, find the curved surface area and

the total surface area of the cone (use ©=3.14)

3Yqr /OR
14 A mmwmmmﬁmmq@ﬂmwﬂﬂﬂ%%ﬁﬁ?ﬁw,
@ o sma HRAT |

Curved surface area of a right circular cylinder of height 14 cm, is 88 ¢m?. Find the

radius of the base of the cylinder.

e, . ——
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722 UG WD BT B (x4 2y + 42)? BT R AR | SR )
. E"Pa‘,‘d th# f‘;‘“(’“’i“g-using suitat;]e i&éﬁﬁt'y, (x + 2y- + 4z)%
N
R UER] ﬁﬁ;a.q -
X +y® +2° - 3xyz =§(x+y_+zj x[(x-y)? + -2+ =%

. Verify that —

2 )2
4y 42— Byz =ty + D) x (k- + G-+ (2= %))
H:23—x+y=4maﬂﬁ?§?ﬁ'ﬁ%ﬂ;’l (s
Dréw the graph of the following équatibn x+y=4
AYdT /OR
() T W e
(ii) 2 4% IR @ w0 A y =3 P IR Freeer Hifeg |
Give the géomctﬁt: rcprcéentatiqn of y = 3 as an equation-
(i) In one variable

(ii)' In two variables

[910] . i} " 'Png-euoi‘.lﬁ‘-
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A match box measur . of .
_ e4 cm x 2 5 cm X 1 5 cm, What w1l] be 1he volume of a pﬂﬁk‘*‘-t
contammg 12. such ‘boxes? '

-

341 / OR

a%ﬁﬁw%%iﬂﬁswwmmmw ?ﬁmﬁanwa?rﬁrm
Tsﬂ'ﬁ'cﬁrﬁ‘ﬂtfllﬂ-—314] . R

The height of a cone ‘is 15 ¢m. If its volume is 1570 cm’, find the radius of the

base. [Use T = 3.14] ®_
125 ww%ﬁmwﬁwﬁwmﬁmmmmﬁmﬁwﬁ
A E - | Ny H e
e wd A |B |C |D |E |F |
A @ |75 |55 [37 {29 |10 |37

..(i) W%Wﬁﬁﬁﬁﬁmﬁmwﬁmm‘
(n) Wmﬁﬁmﬁm%l

Given below are the seats won by different political parties in the polling outcomes cf a

state assembly elections-

.\Po]itical Party | A .| B
' LSﬁats won _.75 55

() Draw a bar graph to represent the polling results.

! .n - N . . ‘?
(1)  Which political party won the maximum _numberl of seats’ E

B10] pegersorte
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1
" L

('HQWT:'OR

mmﬁmmﬁmﬁwmwgwﬁmwwsaﬁm
- X A S BT |
39 32, 48, 50, x, x +2, 72, 78, 84 95
s The follow‘mg observations have been arranged in aécénding or&cr. If the mt:‘dj'a" of tlhe__
"'c:i:ata is 63, find the value of x,
29 32,48, 50, x, x +2.72, 78, 84,95 |
uzmw%rgwaneﬁwmaﬁﬁqﬁmﬁzﬁwm s0 A, 24 A @32@4’1 &t

e R RO
Find the area of the triangle whose sides are 40 cm, 24 cm, and 32 cm. Y
R B 31T / OR

& B 1 gensi m'a‘gqm 12 117 25 % 3k @@ aRwT-s40 WA, 2| BT @
- SRS T BT
;g-i;ies of a triangle are in the ratio 12 : 17 =25 and its perimeter is 540 cm. Find its area.

|
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